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Run 6115 quartetwise, PosHalAccO/NSamplas

=== Laser O -—

Entrie=: 41842
Mean: 15.95568 «/- 0UDD20
Sid Dhey: 0.5755 &~ 00020

=== Lager OFF ---
Entrie=: 412087
Mean: 38083 «- 0.0015
Sid Dhey: 03009 = 00070

§ 0 12 14

Run 6115 quartatwize, Diffs)

=== Laser O -—
Entries: 41842
Mean: 0.7411 «- 0.0025
Sid Dhey: 0.5100 +~ 00078

=== Laser OFF ---
Entries: 41287
Mean: 00003 +- 0.0018
Sid Dey: 03719 =~ 00073

Run 6115 quartetwise, Asymsl

=== Laser ON -—
Entries: 41842
Mean: 314636 «/- 01050
Sid Dev: 21,6505 +/- LOTAE

=== Laser OFF ---
Entries: 41287
Mean: 00156 +- 0.07F7
Sid Dev: 157095 +/- (L0645
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Run 6115 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 41842
Mean: 162147 /- 00027
Sbd Dwew: 05511 «& 0.0079

=== Lager OFF ---
Entries: 412087
Mean: 38079 «- 0.0015
Sid Deyv: 03015 &~ 00070

1]

Run 115 quartetwize, Sums0

=== Laser O -—-

Enlries: 41842
Mean: 31,1706 - 000049
Sid Dhev: 1.0049 - 00035

== Laser OFF ---
Entries: 41287
Mean: 76162 «/- 0.0023
Sid Dev: 04738 - 00016
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Run 6115 quartetwise, PosHelAccd

— Lasar O —

trlnes: 47842

Masn: 1B30QEA0E & FEA0ER0E
22 Dz 1RE025TY 4200 +- A1 25TY

— Lassar OFF —
Enlni: 4737
Masn: JETIIO0 NN «0- 2100048
g Ore: SETTILTIE] &= 1450 <8512
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Run 6115 quartetwise, Diifgd
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trnlnea: 47641
Mann: 2302 158 5100 = B2 T
S (Ohire: TIFTEHE] A ¢ =i J257. 4327

— L OFF —
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Maan: TERIITE +~ 7410873
S0d Dwre: ITEIET.O0ES - THIEZ2974
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Run 6115 quartetwise, Asymsd

[ === Laser ON -—-
— Entries: 41842
E Mear: 31,6253 +/- 00E1E
— Sid Dev: 167354 +/- LOETS
— - Laser OFF -—-
— Eniries:; 41287
— Mean: 00025 - 00372
— Sbd Dey: T.5602 +- 00253
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Run 6115 quartetwise, NegHalAcc4
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— Lussar OFF —
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Main: JETH1E Q880 «- 2704478
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Run 6115 quartetwize, Sumsd
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Run 6115 quartetwise, Asyms USbg?
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=== Laser O -—
Entrie=: 41842
Mean: 0UO02T +- 0.0029
St Dhey- 0.5847 44~ 00020

=== Lager OFF ---
Entrie=: 412087
Mean: -0.0048 «/- D002S
Sid Dhey: 0.5847T - 00020
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Run 6115 quartetwize, Asyms Dsbg1

=== Laser O -—

Entries: 41842
Mean: -0.00053 «/- 00009
Sid Dhey: 00815 -~ D003

=== Laser OFF ---
Entries: 41287
Mean: -0.0005 «/- 00004
Sid Dhey: 0L0E16 -~ 00003

Run 6115 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 41842
Mean: 00033 +- 0.0011
Sid Dey: 0.2283% 4~ 00008

=== Laser OFF ---
Entries: 41287
Mean: -0.0008 «- 00012
Sid Dey: 02567 - 00009
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Run 6115 quartetwise, Asyms USbg2

=== Laser O -—-

Entrie=: 41842
Mean: -0.0056 «- 002D
Sbd Dwew: 04107 &b 0.0074

=== Lager OFF ---
Entries: 412087
Mean: 00031 «- 0.00149
Sid Deyv: 03952 - 000714

Run 6115 quartetwise, Asyms D5bg2
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=== Laser O -—-
Enlries: 41842
Mean: 00001 «- 0.0004
Sid Deyv: 00759 & 0003

== Laser OFF ---
Entries: 41287
Mean: -0.03005 «- 00004
Sid Deyv: 00759 & 00003

Run 6115 quartetwise, Asyms Vert Finger

o |

%,

=== Laser O -—-
Enlries: 41842
Mean: 00047 +- 0.0011
Sid Dev: 02325 &~ 00000

== Laser OFF ---
Entries: 41287
Mean: 00021 +- 0.0013
Sid Dev: 02706 &~ 00009
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Run 6115 guartetwize, posHE vs time
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Run 6115 guartetwize, negHO vs time
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Run 6115 quartetwise, posH4 vs time
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Run 6115 guartetwize, posH4 vs time
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Run 6115 gquartetwize, negH4 vs time
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Run 6115 guartetwize, USbg1 ve time

Run 115 guartetwize, USbg2 ve time
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